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(@  Work outa + b as a column vector. ~
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(b)  Work out 2a as a column vector.
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(c) Work out b — 2a as a column vector.
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(Total for question is 6 marks)
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Q2. 623

(o)

(a) Write down as a column vector
(i) a+b

(1)
(i) 2a+3b /
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(2)
The vector ¢ is drawn on the grid.
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(Total for question = 4 marks)
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Q3. 298

(a) Complete the table of values for y = x3 — 3x + 1

x -2 -1 1,0 1 2
v | 3 R R - 3
x=1 oy o= 12~ (3x1) +1 =1-3+| = —|

X=0 yHy=0"-@BxOVYl =-0O+\| =

X=-7 Y= (2P -CBx-D)+\ =K —-6+1=—] @
(b) On the grid, draw the graph of y = x3 — 3x + 1 for values of x from -2 to 2

VoA

. T U
Lo we uad

N

s
1
:
!
T
gt
|

N

SR -
-

I
[9¥]

y 4

SN

9

(2)

(Total for question = 4 marks)
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You do!

(a) Complete this table of values for y = x* + 2x — 1

(b) On the grid,
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298
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(Total for Question is 4 marks)
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Q5. 156, 170, 160, 162
......... 5j+‘1r&+5
(1)

(b) Factorise ~ 2x? —4x
Q and x S Common 'g:cxc/t‘ifs 0—§' both terms

o AN
(c) Expand and simplify 11— 3(x + 2)

(-3

(d) Expand and simplify  (x—6)(3x + 7)

(2)

(Total for Question is 7 marks)
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(b) Factorise ~ 4x®—8x

(c) Expand and simplify 7—-5(2x + 2)

T-10x - 10

(d) Expand and simplify ~ (x — 2)(4x + 4)
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156, 170, 160, 162

(2)

(Total for Question is 7 marks)
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Q7. 570

Diagram NOT
accurately drawn

(a) Work out the volume of the triangular prism.

\V = QAreaq OQ CloSs - SeckioN X kﬁu\gjdﬂ

T
The Shaclecl  trtevpgla

........ Q)QO ....cm?

- Q\-ﬁw\ ogg tﬂuﬁg (& = 5 X 2 (Total for Question is 2 marks)
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Q8. 570

Here is a triangular prism.

Diagram NOT
accurately drawn

4 cm 20 cm

3 cm

Work out the volume of this triangular prism.

A(Q&O*Q- C(DSS-S-QC_E\QM\ ~ LLKB = éc,ml

................... 120.con

(Total for Question is 4 marks)
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Q9. 36

Buses to Ashby leave a bus station every 24 minutes.
Buses to Barford leave the same bus station every 20 minutes.

A bus to Ashby and a bus to Barford both leave the bus station at 7 30 am.
When will a bus to Ashby and a bus to Barford next leave the bus station at the same time?

e aeed the LeMm of QW & QO
QA -y 48 3 % (W)L ..
A0 - A0, 40,60, 100 QO), 1o -

LOON = 12 0mns q'c\m
= Q howr ¢

(Total for question = 3 marks)

1°30am + N hews = Cﬁ%@am



Academies Trust

You do! £ hegartymaths

Q10. 36
Tom and Amy set the alarms on their phones to sound at 6.45 am.
Both alarms sound together at 6.45 am.

Tom's alarm then sounds every 9 minutes.
Amy's alarm then sounds every 12 minutes.

At what time will both alarms next sound together?

q - 98,33 B6)49,54 63,32 ...
‘2 - 12,y (B)UAR 60 .

o0-03ecm + 36 My

m (Total for question = 3 marks)
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Q1. 131

31x9.87
Work out an estimate for  0.509

QOW\A each  Numbher Eo A SG“\Q’{QW Q\S"JQ‘

30 x 106 . 300 B0
O . 5 D . 5 (Total for Question is 3 marks)

200™ | 23000 _ 600
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Q12. 131

43.2 x +/99.05

Work out an estimate for the value of 0.193

Lo x J\oo
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(Total for question = 3 marks)
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